Dane County Public Work, Highway & Transportation

BID 116002 - Steel Plate Beam Guard

Opened:

VENDOR NAME

The Soelch Group
8200 Lynch Road
Detroit, Ml 48234

Highway Construction
Products LLC
W935 EauGalle Dam Rd
Spring Valley, WI 54767

Western Culvert
W324 Delafield Road
Oconomowoc, WI 53066
262.569.8666

BULK PICKED-UP DELIVERED PICKED-UP DELIVERED PICKED-UP DELIVERED

ORDER PRICE PER PRICE FOR PRICE PER PRICE FOR PRICE PER PRICE FOR
DESCRIPTION QTY EACH UNIT BULK EACH UNIT BULK EACH UNIT BULK
MGS Beam Guard Sec., Straight, 12’ 6" 200 $ 80.00( $ 16,000.00f $ 63.00 $ 12,600.00] $ 71.00( $ 14,200.00
MGS Beam Guard Sec., Straight, 15’ 7.5" 10 $ 125.00| $ 1,250.00] $ 81.00| $ 810.00| $ 130.00| $ 1,300.00
MGS Beam Guard Sec., Straight, 25’ 10 $ 168.00| $ 1,680.00f $ 121.00( $ 1,210.00| $ 132.00| $ 1,320.00
MGS Radius Rail, 5-foot 5 $ 128.00| $ 640.00| $ 91.50| $ 45750 $ 110.00| $ 550.00
MGS Radius Rail, 10-foot 5 $ 124.00| $ 620.00| $ 87.00| $ 435.00f $ 105.00| $ 525.00
MGS Radius Rail, 40-foot 5 $ 118.00| $ 590.00| $ 82.50| $ 41250 $ 105.00| $ 525.00
MGS Radius Rail, 50-foot 5 $ 116.00| $ 580.00] $ 81.00| $ 405.00f $ 105.00| $ 525.00
MGS Radius Rail, 60-foot 5 $ 116.00| $ 580.00| $ 81.00| $ 405.00f $ 105.00| $ 525.00
MGS Radius Rail, 75-foot 5 $ 116.00| $ 580.00] $ 81.00| $ 405.00f $ 105.00| $ 525.00(
Thrie Beam Straight, 12' 6" 5 $ 168.00| $ 840.00| $ 117.00 $ 585.00] $ 115.00| $ 575.00
Thrie Beam Transition, 6'3” Section 5 $ 120.00| $ 600.00| $ 115.00( $ 575.00] $ 108.00| $ 540.00
Thrie Beam Endshoe 5 $ 68.00| $ 340.00| $ 67.00| $ 335.00] $ 65.00| $ 325.00
Galvanized Steel Guard Rail Reflector With Type
H Reflective Sheeting, Silver 100 5.00 500.00 5.00 500.00 4.50 450.00
5/8"x 1 ¥4" Splice Bolt w/ Nut 200 $ 0.90( $ 180.00| $ 0.78( $ 156.00f $ 0.76( $ 152.00
5/8"X2" Post Bolt w/ Nut & Washer 50 $ 1.60[ $ 80.00| $ 1.15( $ 5750 $ 1.05($ 52.50
5/8"X10" Post Bolt w/ Nut & Washer 50 $ 2.10| $ 105.00| $ 195| % 97.50| $ 1.80| $ 90.00
5/8"X14" Post Bolt w/ Nut & Washer 50 $ 2.60[ $ 130.00| $ 274 $ 137.00( $ 240($ 120.00
5/8"X18" Post Bolt w/ Nut & Washer 50 $ 3.00({ $ 150.00| $ 2.92($ 146.00f $ 2.80| $ 140.00
5/8"X21" Post Bolt w/ Nut & Washer 50 $ 350 $ 175.00| $ 3.58|$ 179.00( $ 345|$ 172.50
5/8"X25" Post Bolt w/ Nut & Washer 10 $ 4.60( $ 46.00| $ 499 $ 49.90| $ 5.10($ 51.00
Guardrail Posts & Blocks
Metal I-Beam Posts — W6 x 9 x 6’ 50 $ 54.00| $ 2700.00] $ 43.00| $ 2,150.00f $ 46.00| $ 2,300.00
Treated Wood Posts, 6" x 8” x 6’-5" 200 $ 52.00( $ 10400.00f $ 24.00( $ 4,800.00] $ 22.50( $ 4,500.00
Treated Wood Posts, 6" x 8" x 8'-0" 200 $ 56.00( $ 11200.00f $ 26.00( $ 5,200.00( $ 22.50( $ 4,500.00
Plastic Guardrail Block, 6” x 8” x 14" 50 $ 5.60[ $ 280.00| $ $ -8 6.45( $ 322.50
Plastic Guardrail Block, 6” x 12" x 14" 50 $ 8.00( $ 400.00| $* 12.75( $ 637.50| $ -l $ -
Plastic Guardrail Block, 4” x 12" x 14" 50 $ 7.60| $ 380.00| $ 6.15| $ 307.50] $ 14.00| $ 700.00
Wood Post Block, 14" x 8" x 6” 50 $ 7.00( $ 350.00] $ 4.25| $ 21250 $ 5.00( $ 250.00
Wood Post Block, 14" x 12" x 6" 50 $ 10.00| $ 500.00 $ 8.50( $ 425.00f $ 10.00| $ 500.00
Tapered Wood Post Block, 14" x 8" x 6" 50 $ 9.00( $ 450.00 $ 11.00{ $ 550.00] $ 10.10| $ 505.00

*6'6"

End Sections
Wrap Around Ends (round ends) 5 $ 45.00 $ 225.00 $ 40.00 $ 200.00| $ 41.00 $ 205.00
Flared Ends (fish tail ends) 5 $ 42.00 $ 21000 $ 32.00 $ 160.00( $ 40.00 $ 200.00
Bronstad Ends 5 $ 95.00 $ 475.00 $ 160.00 $ 800.00| $ 150.00 $ 750.00
End Shoe (bridge connection) 5 $ 45.00 $ 225.00 % 38.00 $ 190.00f $ 40.00 $ 200.00
Type | & Il Anchorages
Type | Anchor Assembly Complete 1 $ 890.00 $ 890.00 $ 740.00 $ 740.00| $ 785.00 $ 785.00
Type Il Anchor Assembly Complete 1 $ 580.00 $ 580.00 $ 487.00 $ 487.00f $ 485.00 $ 485.00
12.5' Rail (Special Punched for Type | & Il) 5 $ 178.00 $ 890.00 $ 95.00 $ 475.00f $ 120.00 $ 600.00
12.5' Rail (Special Punched for Type IIl) 5 $ 280.00 $ 1400.00 $ 125.00 $ 625.00] $ 140.00 $ 700.00
Cable Anchor Box 1 $ 54.00 $ 54.00 $ 44.00 $ 44.00| $ 44.00 $ 44.00
Double Swaged Cable (with hardware) 1 $ 105.00 $ 105.00 $ 80.00 $ 80.00] $ 80.00 $ 80.00
Steel Tube (LG 6" x 8" x 5) 1 $ 150.00 $ 150.00 $ 110.00 $ 110.00f $ 124.00 $ 124.00
1 Piece Buffered Terminal End Section 1 $ 56.00 $ 56.00 $ 81.00 $ 81.00] $ 66.00 $ 66.00
Trinity Thriebeam Bullnose Parts
12379G Slotted Threibeam, 12.5’ - 5’ rad 5 $ 222.00 $ 1110.00 $ 525.00 $ 2,625.001 $ 460.00 $ 2,300.00
12385G Slotted Thriebeam, 12.5' — 34’ rad. 5 $ 220.00 $ 1100.00 $ 475.00 $ 2,375.00[ $ 320.00 $ 1,600.00
12383G Slotted Thriebeam, 12.5’ slot rail 5 $ 215.00 $ 1075.00 $ 267.00 $ 1,335.00] $ 235.00 $ 1,175.00
209G Thriebeam, 12'6” Section 5 $ 168.00 $ 840.00 $ 114.00 $ 570.00] $ 120.00 $ 600.00
729G - 6" x 8" x 8' Tube Sleeve 5 $ 165.00 $ 825.00 $ 175.00 $ 875.001 $ 175.00 $ 875.00
749G - 6" x 8" x 6' Tube Sleeve 5 $ 160.00 $ 800.00 $ 135.00 $ 675.00] $ 140.00 $ 700.00
6117B - 6" x 8" x 6’6" Treated Posts 5 $ 54.00 $ 270.00 $ 30.00 $ 150.00f $ 45.00 $ 225.00
4075B - 6" x 8" x 14" Treated Blocks 5 $ 12.00 $ 60.00 $ 475 $ 2375 $ 12.00 $ 60.00
6115B — 5.5" x 7.5" x 3'10" Treated Posts 5 $ 45.00 $ 225.00 $ 26.00 $ 130.00f $ 33.00 $ 165.00
6118B — 6" x 8" x 14" Taperd Treatd Block 5 $ 21.00 $ 105.00 $ 11.00 $ 55.00( $ 10.00 $ 50.00
6121B — 6" x 8" x 6’6" Treated Posts 5 $ 50.00 $ 250.00 $ 30.00 $ 150.00f $ 45.00 $ 225.00
6122B — 6" x 8" x 22" Treated Blocks 5 $ 26.00 $ 130.00 $ 9.00 $ 45.00] $ 12.85 $ 64.25
6669G - 5/8”" x 144" Nose Cable 5 $ 76.00 $ 380.00 $ 12250 $ 61250 $ 117.00 $ 585.00
19361G - Nose Cable Anchor Plates 5 $ 75.00 s 375.00 3 46.50 $ 232.50] $ 25.00 s 125.00

Page 1 of 3




Dane County Public Work, Highway & Transportation

BID 116002 - Steel Plate Beam Guard

Opened:

VENDOR NAME

The Soelch Group
8200 Lynch Road
Detroit, Ml 48234

Highway Construction
Products LLC
W935 EauGalle Dam Rd
Spring Valley, WI 54767

Western Culvert
W324 Delafield Road
Oconomowoc, WI 53066
262.569.8666

BULK PICKED-UP DELIVERED PICKED-UP DELIVERED PICKED-UP DELIVERED
ORDER PRICE PER PRICE FOR PRICE PER PRICE FOR PRICE PER PRICE FOR

DESCRIPTION QTY EACH UNIT BULK EACH UNIT BULK EACH UNIT BULK
SKT 350 END TREATMENT:
SKT 350, complete* 1 $ 2,200.00 $ 2200.00 $ 2,000.00 $ 2,000.00| $ 2,100.00 $ 2,100.00
S3000, Impact Head 1 $ 1,050.00 $ 1050.00 $ 825.00 $ 825.00] $ 845.00 $ 845.00
W-beam Guardrail End Section, 12 Ga. |

S$1303, 12'-6” Section 5 $ 180.00 $ 900.00 $ 137.00 $ 685.00] $ 150.00 $ 750.00

S1305, 25'-0" Section 5 $ 280.00 $ 1400.00 $ 195.00 $ 975.00| $ -$ -
S$730, Foundation Soil Tubes, 6" x8” x 6’0" 2 $ 140.00 $ 280.00 $ 135.00 $ 270.00] $ 142.00 $ 284.00
E740,Pipe Sleeve 2" Standard Pipe x 5 %" 2 $ 8.00 $ 16.00 $ 6.00 $ 12.00f $ 7.00 $ 14.00
E750, Bearing Plate — 8" x 8" x 5/8” 2 $ 24.00 $ 48.00 $ 1650 $ 33.00] $ 20.00 $ 40.00
S760, Cable Anchor Bracket 2 $ 54.00 $ 108.00 $ 48.75 $ 97.50| $ 41.00 $ 82.00
E770, BCT Cable Anchor Assembly 5 $ 92.00 $ 460.00 $ 7950 $ 397.50| $ 80.00 $ 400.00
E780, Ground Strut 5 $ 82.00 $ 410.00 $ 65.25 $ 326.25| $ 85.00 $ 425.00
P650, 5 %" x 7 2" x 45" Wood Posts 6 $ 36.00 $ 216.00 $ 26.00 $ 156.00( $ 24.00 $ 144.00
P671, 6" x 8" x 6'-0" Wood CRT Posts 5 $ 53.00 $ 265.00 $ 30.00 $ 150.00f $ 31.00 $ 155.00
P675, 6" x 8" x 14" Timber Blockouts 6 $ 6.00 $ 36.00 $ 500 $ 30.00] $ 500 $ 30.00
E3151, Impact Face Object Marker 5 $ 32.00 $ 160.00 $ 25.00 $ 125.00f $ 26.00 $ 130.00
B580754, 5/8” x 7 ¥4" Hex Bolts 5 $ 1.60 $ 8.00 $* —75.00 $ 375.00] $ 140 $ 7.00
B581004, 5/8” x 10" Hex Bolts 5 $ 1.70 $ 850 $ -$ -1 $ 150 $ 7.50
B581002, 5/8” x 10" HGR Post Bolt 5 $ 1.80 $ 9.00 $ . - $ -l $ 150 $ 7.50
B581802, 5/8” x 18" HGR Post Bolt 5 $ 340 $ 17.00 $__ -3 s 240 $ 12.00
NO50, 5/8" HGR Nuts 5 $ 045 $ 225 % - $ -l $ 040 $ 2.00
WO050, 5/8" Flat Washer 5 $ 025 $ 125 % —~ -$ -1 $ 025 $ 1.25
N100, 1” Anchor Cable Hex Nuts 5 $ 1.00 $ 500 $ 135 $ 6.75| $ 1.00 $ 5.00
W100, 1" Anchor Cable Washers 5 $ 0.50 $ 250 $ 045 $ 225 $ 0.50 $ 2.50
SB58A, Cable Anchor Bracket Shidr Bolts 5 $ 050 $ 2.50 $** 27.00 $ 27.00( $ 345 $ 17.25
NO55, %" A325 Structural Nuts 5 $ 0.50 $ 250 $ -$ -1 $ 0.60 $ 3.00
Structural Washer 5 $ 045 $ 225 % - $ -1 $ 0.85 $ 4.25

*Comes in kit plus 1" cable nut & washer and cable box shoulder bolts * 8 per pkg

ET PLUS END TREATMENT:
ET PLUS, complete* 4 $ 2,600.00 $ 10400.00 $ 2,000.00 $ 8,000.00| $ 2,050.00 $ 8,200.00
62G #1, Deep Beam Guard Rail, 12 Ga. 5 $ 250.00 $ 1250.00 $ 217.00 $ 1,085.00[ $ 210.00 $ 1,050.00
62G #2, Deep Beam Guard Rail, 12 Ga. 5 $ 250.00 $ 1250.00 $ 122.00 $ 610.00| $ 130.00 $ 650.00
740G, Steel Tube 6" x 8” x 54" x 3/16" 2 $ 145.00 $ 290.00 $ 110.00 $ 220.00] $ 125.00 $ 250.00
766G, Soil Plate 18" x 24" x 4" 2 $ 52.00 $ 104.00 $ 45.00 $ 90.00| $ 60.00 $ 120.00
4147B, Wood Posts, 572" x 7 ¥2" x 45" 5 $ 45.00 $ 22500 $ 26.00 $ 130.00( $ 30.00 $ 150.00
705G, Pipe Sleeve — 2" std. Pipe x 5 %" 2 $ 9.00 $ 18.00 $ 6.00 $ 12.00f $ 7.00 $ 14.00
782G, Bearing Plate — 8" x 8" x 5/8” 2 $ 25.00 $ 50.00 $ 1650 $ 33.00] $ 20.00 $ 40.00
704A, Cable Anchor Bracket 2 $ 65.00 $ 130.00 $ 48.00 $ 96.00| $ 43.00 $ 86.00
3000G, Cable Assembly 2 $ 108.00 $ 216.00 $ 7950 $ 159.00( $ 80.00 $ 160.00
9918A, Offset Strut 2 $ 105.00 $ 210.00 $ 70.00 $ 140.00f $ 72.00 $ 144.00
985A, Guardrail Extruder 1 $ 1,125.00 $ 1125.00 $ - $ -l $ -$ -
995A, Guardrail Extruder for ET Plus 1 $ 1,125.00 $ 1125.00 $ 900.00 $ 900.00| $ 915.00 $ 915.00
3478G, 5/8” x 7 ¥2" Hex HD Bolt 5 $ 160 $ 8.00 $ - $ -l $ 140 $ 7.00
3497G, 5/8”" x 9 ¥2" Hex HD Bolt 5 $ 1.60 $ 8.00 $ -$ -1 $ 150 $ 7.50
3300G, 5/8” Washer 5 $ 035 $ 1.75 $** 215.00 $ 215.00] $ 025 $ 1.25
3580G, 5/8" x 18" HGR Splice Bolt 5 $ 325 $ 1625 $ -$ -1 $ 240 $ 12.00
3360G, 5/8”" x 1 ¥4" HGR Splice Bolts 5 $ 045 $ 225 % - $ -l $ 041 $ 2.05
3340G, 5/8" HGR Nut 5 $ 045 $ 225 % -$ -1 $ 041 $ 2.05
3910G, 1" Hex Nut 5 $ 1.00 $ 500 $ 135 $ 6.75| $ 1.00 $ 5.00
3900G, 1" Washer 5 $ 0.50 $ 250 $ 045 $ 225 $ 0.50 $ 2.50
3177B, Object Marker (18"x18") Decal 5 $ 32.00 $ 160.00 $ 25.00 $ 125.00 $ 26.00 $ 130.00
*Complete: All material necessary to complete anchorage including break-away wood posts. ** ET hardware can
Universal Tau Crash Cushion
Nose Piece 1 $ N/A $ N/Al $ N/A $ N/A $ N/A $ N/A
Wide Nose Piece 1 $ N/A $ N/A| $ N/A $ N/A  $ N/A $ N/A
Type A Energy Absorbing Cartridge 1 $ N/A $ N/A[ $ N/A $ N/A  $ N/A $ N/A
Type B Energy Absorbing Cartridge 1 $ N/A $ N/A| $ N/A $ N/A  $ N/A $ N/A
Single Slider Panel 1 $ N/A $ N/A[ $ N/A $ N/A  $ N/A $ N/A
Double Slider Panel 1 $ N/A $ N/A| $ N/A $ N/A  $ N/A $ N/A
Laterial Support Cable per Foot 1 $ N/A $ N/A[ $ N/A $ N/A  $ N/A $ N/A
Single X Bulkhead 1 $ N/A $ N/A| $ N/A $ N/A  $ N/A $ N/A
Double X Bulkhead 1 $ N/A $ N/A| $ N/A $ N/A  $ N/A $ N/A

Page 2 of 3




Dane County Public Work, Highway & Transportation

BID 116002 - Steel Plate Beam Guard
Opened:

VENDOR NAME

The Soelch Group
8200 Lynch Road
Detroit, Ml 48234

Highway Construction

Products LLC

W935 EauGalle Dam Rd
Spring Valley, WI 54767

Western Culvert
W324 Delafield Road
Oconomowoc, WI 53066
262.569.8666

BULK PICKED-UP DELIVERED PICKED-UP DELIVERED PICKED-UP DELIVERED

ORDER PRICE PER PRICE FOR PRICE PER PRICE FOR PRICE PER PRICE FOR
DESCRIPTION QTY EACH UNIT BULK EACH UNIT BULK EACH UNIT BULK
Triple X Bulkhead 1 $ N/A $ N/A[ $ N/A $ N/A _ $ N/A $ N/A
Quad-Guard Systems
Yellow Nose Assembly 1 $ 710.00 $ 710.00 $ N/A $ N/A  $ N/A $ N/A
Type | Cartridge 1 $ 815.00 $ 815.00 $ N/A $ N/A  $ N/A $ N/A
Type Il Cartridge 1 $ 865.00 $ 865.00 $ N/A $ N/A  $ N/A $ N/A
Fender Panel 1 $ 620.00 $ 620.00 $ N/A $ N/A  $ N/A $ N/A
Monorail 1 $ 715.00 $ 715.00 $ N/A $ N/A  $ N/A $ N/A
Diaphragn 1 $ 510.00 $ 510.00 $ N/A $ N/A _ $ N/A $ N/A
Quad-Guard Systems
Yellow Nose Assembly 1 $ 710.00 $ 710.00 $ N/A $ N/A  $ N/A $ N/A
Engrite 1Il 1400# Container, Model 640 1 $ 975.00 $ 975.00 $ N/A $ N/A  $ N/A $ N/A
Engrite 1Il 2100# Container, Model 960 1 $ 975.00 $ 975.00 $ N/A $ N/A  $ N/A $ N/A
Engrite 11l 200/400# Inner Core 1 $ 915.00 $ 915.00 $ N/A $ N/A  $ N/A $ N/A
Engrite Il 700# Inner Core 1 $ 915.00 $ 915.00 $ N/A $ N/A  $ N/A $ N/A
Black Lid 1 $ 426.00 $ 426.00 $ N/A $ N/A _ $ N/A $ N/A
CASS Cable Guard Parts (Trinity Highway Products)
5/16” Hex Nut A563, #3245G 1 $ 055 $ 055 $ 025 $ 0.25[ $ N/A $ N/A
5/16"X2" Hex Bolt Grd 5, #3248G 1 $ 095 $ 095 $ 0.60 $ 0.60[ $ N/A $ N/A
Cass Cable Spacer TL3, #5700B 1 $ 150 $ 150 $ 2.60 $ 2.60[ $ N/A $ N/A
Cass CBL SPCR TL3 Refl Yellow, #5701B 1 $ 5.00 $ 5.00 $ 7.00 $ 7.00( $ N/A $ N/A
Cass Post StrapS4 TL3/4, #5707T 1 $ 5.00 $ 500 $ 5.00 $ 5.00f $ N/A $ N/A
Cass Dust Cover S4 Post, #5708B 1 $ 150 $ 150 $ 250 $ 250 $ N/A $ N/A
Cass Cbl Int 1000’ LT/RT, #5816G 1 $ 2,100.00 $ 2100.00 $ 2,000.00 $ 2,000.00f $ N/A $ N/A
Cass Cble Term 54’4 LT/RT, #5817G 1 $ 315.00 $ 315.00 $ 330.00 $ 330.00| $ N/A $ N/A
Cass Cbl Term 48’1 LT/RT, #5818G 1 $ 310.00 $ 310.00 $ 340.00 $ 340.00] $ N/A $ N/A
Cass Cbl Term 41’10 LT/RT, #5819G 1 $ 305.00 $ 305.00 $ 330.00 $ 330.00| $ N/A $ N/A
Cass Lock Bolt 5/16”, #5825G 1 $ 250 $ 250 % 200 $ 200 $ N/A $ N/A
Cass 5/16” Rnd Wshr F436, #5831G 1 $ 095 $ 095 $ 0.30 $ 0.30[ $ N/A $ N/A
Cass 5/16” Hx Nut SAE GRS5, #5832G 1 $ 1.05 $ 1.05 $ 128 $ 128| $ N/A $ N/A
Cass Sleeve Cover S3 Post, #5839B 1 $ 125 $ 125 % 6.00 $ 6.00( $ N/A $ N/A
Cass-Cbl Brkt for CRP PST, #33909G 1 $ 24.00 $ 2400 $ 21.00 $ 2100 $ N/A $ N/A
CCT Line Post S3x5.7 5’3, #33910G 1 $ 86.00 $ 86.00 $ 68.00 $ 68.00( $ N/A $ N/A
Cass-CRP-Upper Post 2°0, #33935A 1 $ 190.00 $ 190.00 $ 250.00 $ 250.00] $ N/A $ N/A
Cass-TL3 Spost 3'-11 Y4, 1 $ 96.00 $ 96.00 $ 57.00 $ 57.00 $ N/A $ N/A
Gibralter Cable Guard Parts w/ 1" Fittings
TL-3 Haripin 7/16" x 17" 1 $ N/A $ NA $ Min of 10 $ 22.00 $ N/A $ N/A
TL-3 Lockplate 1/8 x 1 1/2 x 6 5/8 1 $ N/A $ N/A 8 Minof 10 $ 585 $ N/A $ N/A
Ubolt Lockplate Assembly 1 $ N/A $ NA $ Minof 10 $ 3375 % N/A $ N/A
J-Bolt 3/4" 1 $ N/A $ N/A  $ Minof 10 $ 16.60 $ N/A $ N/A
Anchor Terminal Fitting 1 $ N/A $ NA $ 226.00 $ 226.00 $ N/A $ N/A
Terminal Keeper Wire 12ga x 12 1 $ N/A $ N/A  $ Minof 10 $ 240 $ N/A $ N/A
TL-3 Pre-stretched Cable 3/4" (2000 per spool) 1 $ N/A $ NA $ 6740.00 $ 6,740.00 $ N/A $ N/A
TL-3 15" Socket w/o Mow Strip 1 $ N/A $ N/A  $ - $ - $ N/A $ N/A
Cable Splice Turnbuckle 1 $ N/A $ NA $ 234.00 $ 234.00 $ N/A $ N/A
Torpedo Splice 1 $ N/A $ N/A $ 81.75 $ 8175 $ N/A $ N/A
Acorn 1 $ N/A $ N/A  $ 45.00 $ 45.00 $ N/A $ N/A
Delineator/Reflector Object Marker 1 $ N/A $ NA $ Minof 10 $ 3.90 $ N/A $ N/A
Excluder Cap 1 $ N/A $ NA $ Minof 10 $ 525 $ N/A $ N/A
Post Cap 1 $ N/A $ NA $ Min of 10 $ 1447  $ N/A $ N/A
TL-3 Line Post Socketed 1 $ N/A $ NA $ Minof 10 $ 56.00 $ N/A $ N/A
Base Plate Post/Surface Mount 1 $ N/A $ NA 8 -$ - $ N/A $ N/A
Base Plate Post/Low Fill 1 $ N/A $ NA 8 -$ - $ N/A $ N/A
Terminal Post No 1/Weak 1 $ N/A $ NA $ 77.00 $ 77.00 $ N/A $ N/A
Terminal Post No 2/Weak 1 $ N/A $ NA $ 77.00 $ 77.00 $ N/A $ N/A
Terminal Post No 3 & No 4 1 $ N/A $ NA $ 77.00 $ 77.00 $ N/A $ N/A
Cable Release Post 1 $ N/A $ NA $ 506.25 $ 506.25 $ N/A $ N/A
Anchor Post 1 $ N/A $ NA _$ 806.00 $ 806.00 $ N/A $ N/A
Delivery to Madison Garage, 2302 Fish Hatchery 21 Days 1-2 Weeks 1-2 days

Page 3 of 3




	Sheet1

